
PPSC Entry Test

Sr Questions Answers Choice

1 The former Chief Justice of Pakistan Mr. Iftikhar Chaudry was the only chief Justice who
visited three jails in Punjab , these were

A. Lahore, Multan, Faisalabad
B. Lahore , Rawalpindi, Mianwali
C. Lahore, Gujranwala, Rawalpindi
D. None of these

2 When Pakistan came into being, the total number of jalls in Punjab was.
A. 19
B. 21
C. 22
D. 24

3 Inspector General Prisons Punjab is
A. Abdul Basit
B. Shahid Farooq
C. Farooq Nazeer
D. None of these

4 The total number of Jails in Punjab is
A. 28
B. 30
C. 37
D. 34

5 Garb
A. Rage
B. Distort
C. Trivial
D. Dress

6 Tacit
A. Formal
B. Fear
C. Silent
D. Celestial

7 Rescind
A. Maintain
B. Cancel
C. Risk
D. Disregard

8 Insidpid
A. Stupid
B. Gentle
C. Delicate
D. Solve

9 Zext
A. Pleasure
B. Distaste
C. Flop
D. Encircle

10
Identify the synonyms
Infringe

A. Conoserve
B. Violate
C. Instill
D. Divert

11 He is not eligible _______________ this post.
A. In
B. On
C. To
D. For

12 He is fully contented _________ his life.
A. In
B. OF
C. To
D. With

13 The Jug is full_____________ milk
A. With
B. In
C. Upon
D. Of

14 You ought to abide____________ this decision.

A. With

B. Of
C. By
D. From

15 National Language of Pakistan under the 1962 constitution was.
A. Urdu
B. Punjabi
C. Bengali and Urdu
D. Punjabi and Urdu



16 There is a limit___________ everything in life.
A. In
B. After
C. Up
D. To

17 A boy ranks thirteen in class of twenty six. What is his rank from the last.
A. 13
B. 14
C. 15
D. 26

18 Find the number whose square root is twice its cube root.
A. 27
B. 64
C. 125
D. 81

19 Which of the following is the smallest fraction
A. 5/1
B. 6/13
C. 3/7
D. 7/12

20 Acyclist covers 660 feet in 66 seconds. How many yards will be cover in the same time.
A. 220
B. 600
C. 100
D. 10

21 The original price of a gift pack is Rs. 80 , A discount of 15% is allowed is shop.What is the
sale price

A. Rs.65
B. Rs.68
C. Rs.61
D. Rs.50

22 40 Men can do a piece of work in 50 days . How long it will take 25 men to do the work
A. 50 days
B. 80 days
C. 60 days
D. 70 days

23 Which number will come next 2,5,8,11,14____________
A. 17
B. 18
C. 19
D. 26

24 The numebr , whose 3% is 60 , is
A. 3000
B. 6000
C. 9000
D. 2000

25 In the exam 45% students failed and 550 students were successful. The total number of
students who appeared int he exam was.

A. 1000
B. 900
C. 1500
D. 800

26 A carton contains 10 boxes each box containing one dozen cubes. How many box cartons
are needed to fill 960 cubes.

A. 7
B. 8
C. 9
D. 10

27 The British Parliament passed Indian independence Act on.
A. 3 June 1947
B. 14 June 1947
C. 14 July 1947
D. 24 July 1947

28 The Hindus had launched "Swadeshi Movement" in the wake of.
A. The Urdu -Hindi controversy 1867
B. Partition of Bengal 1905
C. Jallianwala Bagh Tragedy 1919
D. All of the above

29 After Sir Aga Khan, the next president of All India Muslim League was.
A. Nawab Viqar -ul- Mulk
B. Maulana Zafar Ali Khan
C. Raja Sabib of Mahmoodabad
D. Mian Muhammad stafi

30 In the interim government of 1940, the health minister was

A. Abdur Rab Nishtar

B. Asif Ali
C. Jag Jivan Ram
D. Ghazanfar Ali Khan


